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Central Limit Theorem
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/=X, Opdf
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Z=X,+X, ODOpdf
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> u2 <- function(z)
+ switch(length(which(¢c((z>=0), (z>=1),(z>2))))+1,0,z,2 -z, 0)
> u2s <- function(z)

+ u2(z/sqrt(6) + 1)/ sqrt(6)

0.4
|

> x <-seq(-3, 3, length = 101)
> plot(x, sapply(x, u2s), type ="1")
> curve(dnorm, -3, 3, add =T, col =2)
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sapply (x, u2s
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> u3 <- function(z)
+ switch(length(which(c((z >=0), (z>=1), (z> 2), (z> 3)))) + 1,
+ 0,z"2/2,-z"2+3*%z2-3/2,(z-3)"2/2,0)

> u3s <- function(z)

+ u3(1.5+(z* 0.5))* 0.5

> x <-seq(-3, 3, length = 101)

> plot(x, sapply(x, u3s), type ="1",

+ ylim = ¢(0, 0.4))

> curve(dnorm, -3, 3, add =T, col =2)
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> cltplot <- function(data, n){

+ hist(scale(data), nclass = 20, xlim = c¢(-4, 4),

+ ylim = ¢(0, 0.5), freq = F, main = paste("N =", n))
+ curve(dnorm, -4, 4, col=2, add =T)

s

> clturand <- function(n, nsim){
if(n==1)
result <- apply(matrix(sapply(rep(n, nsim), runif), n, nsim), 2, mean)
else
result <- apply(sapply(rep(n, nsim), runif), 2, mean)
cltplot(result, n)

)

+ + + + + +

> clturand(5,1000)
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cltunif(5) T—A2#ZE1ML5F T

> cltunif <- function(nmax){

+ for(iin 1:nmax){

+ if (options()$device == "X11")

+  X11()

if (options()$device = "windows'"")
win.graph()

clturand(i, nsim)

)

+ + + +

+3

>
> Hit#

> nsim <- 500

># EEDIIAL—avEH
> cltunif(5)
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cltrand <- function(n, nsim, rdist){
ifn==1)
result <- apply(matrix(sapply(rep(n, nsim), rdist), n, nsim), 2, mean)
else
result <- apply(sapply(rep(n, nsim), rdist), 2, mean)

cltplot(result, n)
j

clt <- function(nmax, rdist){
for(i in 1:nmax){
if (options()$device == "X11")
X11()
if (options()$device == "windows'"")
win.graph()
cltrand(i, nsim, rdist)
j
j




> clt(5,rquad)
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“R7f  rquad
=7 rtriangular
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BN rbinom

> brinom10.01<-function(x) rbinom(n,10,0.01)
> clt(15, clt-binomial)
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> confinterval <- function(x, conf, sigma2)
+{

+ n <-length(x)

alpha <- 1 - conf

k <- gnorm(1 - alpha / 2)

barx <- mean(x)

mL <- barx - k * sqgrt(sigma2 / n)
mU <- barx + k * sqgrt(sigma2 / n)
+ c(mL, mU)

+}

> confinterval(rnorm(10), 0.95, 1)
[1] -0.547104 0.692486

> confinterval(rnorm(10), 0.95, 1)
[1] -0.6639466 0.5756434

> confinterval(rnorm(10), 0.95, 1)
[1] -0.8003083 0.4392818

> confinterval(rnorm(10), 0.95, 1)
[1] 0.01251542 1.25210548

+ + + + +




100[E] . FIEFEEREZS ?

> confintervalsim <- function(nsim, n, conf){
result <- c()
for (i in 1:nsim){
result <- rbind(result, confinterval(rnorm(n), conf, 1))

}

result

}

> r <- confintervalsim(100, 10, 0.95)
> r[apply(r, 1, prod) > 0, ]
[1] [2]
[1,] -1.2425114 -0.002921355
[2,] 0.3166913 1.556281376
[3,] 0.1919863 1.431576354

+ + + + + +

> which(apply(r, 1, prod) > 0)
[1] 13 31 61
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BTHORE

H . — O > ntest <- function(n, alpha)
o o” =1 (B
H :u+0

+

k <- gnorm(1 - alpha / 2)

+ X <- rnorm(n)
+ barx <- mean(x)
+ z <-barx/sqrt(1/n)
T A= e — _ + if (abs(z) > k)
FEMH: gﬁ%lliﬁﬁj\?'] + T
g ’!ﬂ N + else
BEKE: « I} F

> ntest(10,0.05)
[11F
> ntest(10,0.05)
(11T
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> ntestsim <- function(nsim, n, alpha)
+{

+ 1 <g()

+ for (i in 1:nsim)

+ r <-c(r, ntest(n, alpha))

+ r

+}

> rslt <- ntestsim(100,10,0.05)

> rslt
MMFFTFTFFFFFFFFFFFFFFFFFFTFFFFFFFFFFFFFFFFFF
43]FFFTFFFFFFFFFFFFFFFFFFFFFTFFFFFFFFFFFFFFF
[85]FFFFFFFFFFTFFFFF

> which(rslt)
[1] 3 524 46 68 95




DOE
> which(ntestsim(100, 10, 0.05))

[1] 12 38 52 53 100 5[g]

> which(ntestsim(100, 10, 0.05))
[1] 424 3077 78 81 90 78]

> which(ntestsim(100, 10, 0.05))
[1] 217 53 86 96 98 6[g]

> which(ntestsim(100, 10, 0.05))
[1] 3 418 37 80 5[g]

> which(ntestsim(100, 10, 0.05))
[1] 23 36 60 94 4[g]
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> histsig <- function(nrepeat, nsim, n, alpha)

+{
+ nsig <- ¢()
+ for (i in 1:nrepeat)

+  nsig <- ¢(nsig, length(which(ntestsim(100, 10, 0.05))))

+ nsig

+}

> rsim <- histsig(1000, 100, 10, D10

> min(rsim)
[110

100
|

> max(rsim)
[1] 14

50

o -

| |||
_lII III-I_

rsim

15




> count<-hist(rsim,plot=F,breaks=(0:15)-0.5)

> count
$breaks:

[1] -0.5 0.5 1.5 25 35 45 55 6.5 75 85 9.5 10.5 11.5 12,5

[15] 13.5 14.5

$counts:

[1] 4 25 90 149 179 165
[7] 174 91 57 35 12 16
[13] 2 0 1

150
|

> hist(rsim,pIot=T,breaks=(O:15)-’8(5

> mean(rsim)
[1]1 4.979

50

o -

5) I|||
_lI III-I_ -
; 5 o

rsim

|
15




— I85> % Bi(100,0.05)

> binsim<-rbinom(1000,100,0.05)
> hist(binsim)

> min(binsim)

[1] 0

> max(binsim)

[1] 14

> hist(binsim,breaks=(0:15)-0.5)
> hist(binsim,breaks=(0:15)-0.5)$counts 8 -
[1] 3 30 87 128 185182143 120 62 33
[10] 17 5 4 0 1
> mean(binsim)

[1] 5.016

Histogram of binsim

100
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Frequency

50
|

binsim

10
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> chiL <- qchisq(0.025, 9); chiL
[1] 2.700389

> chiU <- gqchisq(0.975, 9); chiU
[1] 19.02277

> curve(chisqdens9,0,30)

> lines(c(chiU, chiU), ¢(0, dchisq(chiU, 9)), col = 2)
> lines(c(chil, chil), c(0, dchisq(chilL, 9)), col = 3)

> x <-matrix(rnorm(1000), 10, 100)
>tmp1 <- apply(x, 2, sd)

> ssq <-tmp1 * tmp1 * 9

> chi0 <-ssq /1

> points(ssq, runif(100) * 0.001)

> for (i in chiO){

+ if(i < chiL || i > chiU)

+  print(i)

+}

1] 26.50768
] 26.99475
] 1.471944

12.700377

—
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BEHOBE

Hy:p=0 N, )D& X2, HAFEH
H tu=p
> test.power.1 <- function(n, alpha, mu1) > test.power.1(10, 0.05, 0)
> [1]F
+ k <-gnorm(1 - alpha/ 2) A n=10 HE/K¥E «a=0.05
+ X <- rnorm(n, mean = mu1) =0 DEEIREIXZEF)
+ barx <- mean(x)
+ z <-barx/sqrt(1/n)
+ if (abs(z) > k) > test.power.1(10, 0.05, 0.5)
v T []T
I ell;se BRI n=10 HEKZE o=0.05
p =0.5DEE KRTELFEHNT)
+}

nsimBlfEUIRLI-EE EDEEZENTLIMN?




> test.power <- function(nsim, n, alpha, mu1)
+{

+ 1 <-q()

+ for (i in 1:nsim)

+ r <-c(r, test.power.1(n, alpha, mu1))

+ length(which(r)) / nsim

+}

> test.power(1000, 10, 0.05, 0)
[1] 0.066

> test.power(1000, 10, 0.05, 0.1)
[1] 0.062




> mu1 <-seq(-2, 2, 0.1) H DEZ-2H52F TO1ZNHA#T

> calc.power <- function(nsim, n, alpha, mu) {
+ rslt <- ¢()

+ for(i in mu)

+  rslt <-c(rslt, test.power(nsim, n, alpha, i))

+ rslt
+}

EAR#n=10,8=2 /K% a=0.05
> prslt <- calc.power(1000, 10, 0.05, mu1) TE U, IZxXLT1000[E] D EER
> prsilt

[1] 1.000 1.000 1.000 1.000 0.999 0.995 0.992 0.987 0.973 0.919 0.888 0.807 0.712
[14] 0.594 0.490 0.344 0.246 0.144 0.090 0.061 0.041 0.063 0.094 0.147 0.262 0.360
[27] 0.460 0.584 0.738 0.817 0.878 0.916 0.971 0.979 0.992 0.998 1.000 1.000 1.000
[40] 1.000 1.000

> plot(mu1, prslt, type ="I")




~

1.0

0.8

0.6

0.4

0.2

2alb—

AV XKAHEH DB




IE

mRIIZI&

> power.theo <- function(mu, alpha, n) { > x < geq(-3, 3, 0.01)

+ ga <- gnorm(1 - alpha/2) > plot(x, power.theo(x, 0.05, 10), type ="I")
+ tmp <-(mu-0)/sqrt(1/n)
+ err2 <- pnorm(ga - tmp) - pnorm(- ga - tmp)
+ 1-err2

+1 =]

0.4 0.6 0.8

power.theo(x, 0.05, 10)

0.2
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2n—2 (1_p2)n/2(1_r2)(n—3)/2 ) (zpr)a ,
= I'(n+a)/2], —1<r<1
£(r) T > Dl a) 2]
where
n=N_1 > cordistsim <- function(nsim, n, r){

+ rslt <- ¢()

+ for (iin 1:nsim){

+ rdat <- normal2rand(n, r)

+  rslt <-c(rslt, cor(rdat$z1, rdat$z2))
+ )

+ rslt

+}

> par(mfrow = c¢(2,2))

> hist(cordistsim(1000, 10, 0))

> hist(cordistsim(1000, 10, 0.5))
> hist(cordistsim(1000, 100, 0))
> hist(cordistsim(1000, 100, 0.5))
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u.ac.jp/simulation/bootstrap/bootstrap r.htmi

- BH%4(S-PLUSH)

— http://face.f7.ems.okayama-
u.ac.jp/~t2/pukiwiki/index.php?bootstrap




bootstrapdemo

> x<-¢(1,23,23,32,41,22,18,19,23)
> bootstrapdemo(x, 100)
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